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1 3204 i EBX hiZiE 1-1 =] 1:47.87 0.00
2 3211 EF AKX KSC 1-2 2 1:48.12 0.25
3 3201 @ Fit HLITS 1-3 % 1:48.24 0.37
4 3203 1RiB =W hiZiE 1-4 b 1:48.57 0.70
5 3215 dbH g0k FiE 1-5 #* 1:53.42 5.55
6 3208  [AER EXM L &5 1-6 & 1:55.09 7.22
7 3206  E/KPEKER #BJIl 1-7 = 2:01.18 13.31
8 3220 @M mER 215 1-8 =P 2:01.68 13.81
9 3216 TFEE FiE 2-1 2 2:07.08 19.21
10 3205  HIiB MK EPAS 2-2 Ir 2:12.55 24.68
11 3210 stK #@3F HE 2-3 =] 2:14.77 26.90
12 3217  {kik EE EJA 2-4 = 2:18.13 30.26
13 3219 &k BX YU 2-5 #* 2:20.29 32.42
14 3213 H®E F& KSSC 2-6 % 2:20.71 32.84
15 3214 kB RE KSSC 2-7 = 2:21.41 33.54
16 3207 Bw £X SHSATARET 2-8 Bk 2:34.66 46.79
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